* PSpice Model Editor - Version 10.1.0

*$

*BeginSpec

*LS: +Vpwr=15 -Vpwr=-15 +Vout=14.900 -Vout=-14.900 +SR=5.8000E6 -SR=5.8000E6 Pd=67.300E-3

*OG: Cc=30.000E-12 Ib=100.00E-12 Av-dc=2.1340E6 f-0db=14.000E6 CMRR=31.600E3 Ibos=0 Vos=790.00E-6

*OP: Phi=25

*MS: Ro-dc=.6 Ro-ac=.3 Ios=15.000E-3

*EndSpec

*BeginTrace

*LS: 0,1,1.0000E3,10.000E6,1,3,0,0,-1 (27)

*OG: 0,1,1,100.00E6,1,3,0,0,-1 (27)

*OP: 0,1,1,100.00E6,1,3,0,0,-1 (27)

*MS: 0,1,100,10.000E3,1,3,0,0,-1 (27)

*EndTrace

*BeginParam

*VC=0.89047 (1e-006,1e+030,0)

*VE=0.89047 (1e-006,1e+030,0)

*BF1=6e+005 (1e-030,1e+030,1)

*BF2=6e+005 (1e-030,1e+030,1)

*IS2=8.2481e-016 (1e-030,1e+030,0)

*C2=3e-011 (1e-030,1e+030,1)

*CEE=0 (0,1e+030,1)

*GA=0.0026389 (1e-030,1e+030,0)

*GCM=3.579e-008 (1e-030,1e+030,1)

*IEE=0.000174 (1e-030,1e+030,0)

*RC=378.94 (1e-030,1e+030,0)

*RE=81.651 (1e-030,1e+030,0)

*REE=1.6667e+006 (1e-030,1e+030,1)

*RP=14129 (1e-030,1e+030,1)

*C1=3.2168e-011 (1e-030,1e+030,0)

*RO1=0.3 (1e-030,1e+030,1)

*RO2=0.3 (1e-030,1e+030,1)

*GB=26955 (1e-030,1e+030,0)

*IS1=8e-016 (1e-030,1e+030,1)

*EndParam

*DEVICE=OP484max,OPAMP,NPN,INT

* OP484max operational amplifier "macromodel" subcircuit

* updated using Model Editor release 10.1.0 on 01/18/05 at 13:37

* The Model Editor is a PSpice product.

*

* connections:   non-inverting input

*                | inverting input

*                | | positive power supply

*                | | | negative power supply

*                | | | | output

*                | | | | |

.subckt OP484max 1 2 3 4 5

*

  c1   11 12 32.168E-12

  c2    6  7 30.000E-12

  dc    5 53 dy

  de   54  5 dy

  dlp  90 91 dx

  dln  92 90 dx

  dp    4  3 dx

  egnd 99  0 poly(2) (3,0) (4,0) 0 .5 .5

  fb    7 99 poly(5) vb vc ve vlp vln 0 2.6955E9 -1E3 1E3 2E9 -2E9

  ga    6  0 11 12 2.6389E-3

  gcm   0  6 10 99 35.790E-9

  iee  10  4 dc 174.00E-6

  hlim 90  0 vlim 1K

  q1   11  2 13 qx1

  q2   12  1 14 qx2

  r2    6  9 100.00E3

  rc1   3 11 378.94

  rc2   3 12 378.94

  re1  13 10 81.651

  re2  14 10 81.651

  ree  10 99 1.6667E6

  ro1   8  5 .3

  ro2   7 99 .3

  rp    3  4 14.129E3

  vb    9  0 dc 0

  vc    3 53 dc .89047

  ve   54  4 dc .89047

  vlim  7  8 dc 0

  vlp  91  0 dc 15

  vln   0 92 dc 15

.model dx D(Is=800.00E-18)

.model dy D(Is=800.00E-18 Rs=1m Cjo=10p)

.model qx1 NPN(Is=800.00E-18 Bf=600.00E3)

.model qx2 NPN(Is=824.8123E-18 Bf=600.00E3)

.ends

*$

